A68: Simple Trigonometric Identities

Notes: 33.1/33.2: Trigonometric Identities

The Quotient and Pythagorean Identities:
Remember... Remember...
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Use the Pythagorean Identity and then the Quotient Identity to solve the following:
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3. Giventhatsinf = -:-and thatg < @ < m, find the value of | 4. Giventhatsing = —:—:and thatm < 9 < —2-, find the
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S. Giventhatcosf = —— and that = 7S 6 < m, find the 6. Given thatsinf = —%i and that%" < 6 < 2m, find the
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The Reciprocal Identities:
inf = 0= tanf = -
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“cosecant” “secant” “cotangent”
1 hypotenuse 1 1 hypotenuse 1 x adjacent
csCl=——=—= - secl = === - ot =—— === —
sinf y opposite cosf x adjacent tané y opposite
Fmd the exact value of the following trigonometric expressions:
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